23.2.21 Maths Challenge Tuesday Subtraction Crossing 10 - 2

Challenge 1
Amir has 16 apples. Ron has none.
Amir gives Ron 9 apples.

a)Write the number sentence for the above, including
the answer.

b)Who has the most apples?

Explain how you know.




Challenge 2

I am collecting stickers. I already
have 13 and there is room for 18
in my book.

How many more
stickers do I need
to collect to fill
the book?

a)Draw a pictorial representation of the above, e.g.
counters or cubes in two rows.

b)Write the number sentence for the above.




